COMPONENT PARTS

SHADOW?2 Outdoor Chair PEW

ITEM CODE : 51380

ASSEMBLY INSTRUCTION

Back rest_1 pc

fo

\!

\Legs_Z pcs

BEFORE YOU START

damage the product.

Bottom cross bar -1pc

HARDWARE LIST

/card board

Step 1: Using the 40mm hexagon head screw (B) attach the seat to the
backrest with the allen key (D) as shown in the diagram
Step 2: Using the 100mm hegaxon head screw (A) attach the armrests to

the back and the seat. Carefully tighten all bolts.

No Description Q'ty
Hexagon head screw 2
M6x100 pes
Hexagon head screw
M6x40 2 pes
Seat cushion + 2 ve
Back cushiom P
Allen key 1 pc

FOR ASSITANCE TO ASSEMBLE OR
MISSING PARTS. PLEASE CONTACT
AMART IMPORTS CUSTOMER SERVICE.
FREE CALL: 1 800 009 466

1. Choose a clean, level, spacious assembly area. Avoid hard surfaces that may

2. Check and ensure that you have all required contents for complete assembly.
3. Always read the assembly instructions carefully before beginning assembly.
4. The packaging and contents can be a choking hazard, therefore keep

out of reach of small children at all times.

5. Do not over tighten the bolts as this may damage the thread.




COMPONENT PARTS

SHADOW?2 Outdoor Chair PEW

ITEM CODE : 51380

ASSEMBLY INSTRUCTION

Back rest_1 pc

fo

\!

\Legs_Z pcs

BEFORE YOU START

damage the product.

Bottom cross bar -1pc

HARDWARE LIST

/card board

Step 1: Using the 40mm hexagon head screw (B) attach the seat to the
backrest with the allen key (D) as shown in the diagram
Step 2: Using the 100mm hegaxon head screw (A) attach the armrests to

the back and the seat. Carefully tighten all bolts.

No Description Q'ty
Hexagon head screw 2
M6x100 pes
Hexagon head screw
M6x40 2 pes
Seat cushion + 2 ve
Back cushiom P
Allen key 1 pc

FOR ASSITANCE TO ASSEMBLE OR
MISSING PARTS. PLEASE CONTACT
AMART IMPORTS CUSTOMER SERVICE.
FREE CALL: 1 800 009 466

1. Choose a clean, level, spacious assembly area. Avoid hard surfaces that may

2. Check and ensure that you have all required contents for complete assembly.
3. Always read the assembly instructions carefully before beginning assembly.
4. The packaging and contents can be a choking hazard, therefore keep

out of reach of small children at all times.

5. Do not over tighten the bolts as this may damage the thread.




COMPONENT PARTS

SHADOW?2 Outdoor Chair PEW

ITEM CODE : 51380

ASSEMBLY INSTRUCTION

Back rest_1 pc

fo

\!

\Legs_Z pcs

BEFORE YOU START

damage the product.

Bottom cross bar -1pc

HARDWARE LIST

/card board

Step 1: Using the 40mm hexagon head screw (B) attach the seat to the
backrest with the allen key (D) as shown in the diagram
Step 2: Using the 100mm hegaxon head screw (A) attach the armrests to

the back and the seat. Carefully tighten all bolts.

No Description Q'ty
Hexagon head screw 2
M6x100 pes
Hexagon head screw
M6x40 2 pes
Seat cushion + 2 ve
Back cushiom P
Allen key 1 pc

FOR ASSITANCE TO ASSEMBLE OR
MISSING PARTS. PLEASE CONTACT
AMART IMPORTS CUSTOMER SERVICE.
FREE CALL: 1 800 009 466

1. Choose a clean, level, spacious assembly area. Avoid hard surfaces that may

2. Check and ensure that you have all required contents for complete assembly.
3. Always read the assembly instructions carefully before beginning assembly.
4. The packaging and contents can be a choking hazard, therefore keep

out of reach of small children at all times.

5. Do not over tighten the bolts as this may damage the thread.




